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Review of the Building Block Model

• Why does the BBM exist?

• The BBM allows us to convert lumpy expenditure into a 
smooth revenue stream with the same Present Value

The BBM allows us to take a lumpy expenditure requirement and 

to spread it over time to yield a smoothed revenue allowance!
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Review of the Building Block Model

• The BBM is like a bank 
loan…

• A bank loan converts a 
lumpy expenditure into a 
series of monthly 
payments.

• At any given point in time 
the outstanding balance 
on the loan is equal to the 
present value of the future 
stream of payments!

This remains true whether you pay off the loan fast or slow, or make lumpy 
repayments or smooth repayments.

Reminder of the present 
value concept…
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Review of the Building Block Model

• If the regulator uses the 

BBM, provided certain 

conditions are satisfied, at 

each point in time the RAB is 

equal to the present value of 

the future stream of cash-

flows of the firm!

• This remains true no matter 

what choices are made 

about depreciation, revenues 

or pricing in the future.

Using the BBM, 𝑅𝐴𝐵𝑡 = σ𝑖
𝐶𝐹𝑡+𝑖

(1+𝑟)𝑖
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The link between RAB and firm value

• Under standard corporate 

finance theory, the value of 

a firm is equal to the 

present value of the future 

cash-flows.

• Therefore we have the key 

result that, provided certain 

conditions are satisfied, the 

value of a firm regulated 

using the BBM should be 

equal to the RAB!

Using the BBM, 𝑅𝐴𝐵𝑡 = σ𝑖
𝐶𝐹𝑡+𝑖

(1+𝑟)𝑖
= 𝐸𝑉𝑡

The ratio of the EV to the RAB should be 

equal to one!
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What are the conditions under which this holds?

• The regulator must always 

make use of the BBM to set 

the allowed revenue;

• The regulator must not 

systematically overestimate 

the expenditure of the firm;

• The regulator must not 

systematically underestimate 

the revenue of the firm;

• The firm must not expect to 

earn additional revenue from, 

say, incentive schemes.

• There must be no revaluation 

of the asset base that is not 

fully anticipated.

• The BBM must fully and 

accurately reflect the taxes 

the firm pays

• The RAB must go to zero at 

the end of the life of the firm.

• The regulator must set a cost 

of capital that reflects the 

firm’s true cost of capital.
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RAB Multiples

• From time to time we can 

observe the market value of a 

regulated firm (e.g., at the 

time of privatisation).

• From this we can get an idea 

of the value/RAB ratio.

• This is known as the RAB 

Multiple (also known as the 

EV/RAB Multiple, Trading 

Multiple, or Market-to-Asset 

ratio - Ofgem)

𝐸𝑉𝑡
𝑅𝐴𝐵𝑡

= 1

• If all the conditions on the previous 

slide hold:

• Many commentators ask:

– Why can’t we use the RAB 

multiple as a check on how the 

regulator is doing?

– If the RAB multiple is well 

above one, isn’t this a sign of a 

“failure” in the regulatory 

regime?
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There is a lot of commentary about RAB Multiples
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RAB Multiples in practice

• In practice RAB 

multiples tend to be in 

the range of 1.2-1.5 

with some outliers

• Should we be 

concerned? Does this 

mean the system is 

not working?

• Can we use this 

information in our 

regulation?
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Why might RAB multiples be greater than one?

• Perhaps the firm has access to 

additional revenue which is outside 

the BBM?

• Perhaps the firm expects to 

systematically benefit from the 

incentive schemes (persistently 

out-performing)?

• Perhaps the firm expects to pay 

less tax than is forecast under the 

BBM?

• Perhaps the buyers overpaid for 

strategic reasons, irrational 

exuberance, or winners curse?

• Perhaps the firm expects to 

expand output or adjust its prices 

within a price cap to earn more 

revenue?

• Perhaps the firm expects the 

regulation to be removed in the 

future?

• Perhaps the regulator 

overestimates the firm’s cost of 

capital?

– Perhaps the trailing average 

approach favours the firm?
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Why might RAB multiples be less than one?

• Perhaps the firm is unable to earn the 

allowed revenue?

• Perhaps the firm expects a downward 

revaluation in the RAB in the future?

• Perhaps the firm expects to 

underperform on its incentive schemes?

• Perhaps the regulator overestimates the 

value of franking credits?

• Perhaps there are timing issues?

• Perhaps the regulatory cost of capital is 

too low (due to the trailing average 

approach?).
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Should we be concerned about RAB multiples?

• Any given RAB multiple could be 

due to a range of factors –

revenue, expenditure, or cost of 

capital. We should always seek to 

understand the drivers in any 

specific case.

• We should be cautious about any 

feature of the regulatory regime 

which leads to systematic over-

compensation.

– Such as over-compensation for 

taxes, or over-forecasting of 

expenditure requirements (e.g., 

due to related party transactions)

• We should also be concerned 

about any systematic overcompen-

sation of the cost of capital.

• Probably a RAB multiple in the 

range of 1.1-1.3 is not a cause for 

concern. Outside this range?
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Can we use RAB multiples when setting RoR?

• A high RAB multiple is grounds for 

reviewing the regulatory framework 

to ensure there is no systematic, 

unintended overcompensation

• But can we use the RAB multiple 

directly (e.g., if the RAB multiple is 

1.4, should we divide the WACC by 

1.4)?

• The answer is no, due to the 

problem of circularity. The RAB 

multiple depends on future cash-

flows which depend on regulatory 

decisions.

• If the regulator starts changing 

future cash-flows on the basis of 

the RAB multiple the information in 

the RAB multiple will disappear.

But this doesn’t mean we can’t 
use RAB multiples as a 

“sense check” or 
“reasonableness check” as long 

as we don’t rely on it directly.
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RAB Multiples can be useful as a sense check
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What have they said?

• The CCP, May 2017
After observing that long-team leases of TransGrid
and AusGrid were 1.6 and 1.4 times the RAB…
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What have they said?

• The CCP, July 2014
In response to the observation that CKI was 
prepared to pay 1.51 times RAB for Envestra:

Is this right?



accc.gov.au

What have they said?

• The network businesses

Is this right?
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Conclusions

• Under certain strict conditions, 
the value of the regulated firm 
should be equal to the RAB, so 
under these conditions, the 
RAB multiple should be one.

• But these conditions are rather 
strict and ignore incentive 
payments, mis-estimation of 
taxes, other sources of 
revenue as well as problems 
with estimation of the cost of 
capital

• Modest RAB multiples are 
probably not a cause for 
concern.

• Large RAB multiples are of 
concern and should trigger 
further investigation into why 
market expects higher CF (not 
just C of C).

• Regulators cannot rely on 
observed RAB multiples when 
setting regulated revenues due 
to the problem of circularity.


